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Trigonometry

a = B o= 8
sin A sinB sinC :

x=tan! 0,375
x= 20556045




Laws of Indices

Regra
a"x a' =a""
aﬂ'l o1 an — al"l'l-ﬂ

(1 03)? - 1 021

a'= a 17V = 17
a’= 9 34°= 1
9]";{ [§_T=2_5.
b m 6/ 36
a"“=im 9'2=i

a 81
a'=Yar |49°=%49=7




TRIGONOMETRY

‘TMI[I:EHI‘IHEE I |ml:lﬁﬂ.m | m&mm| | mm

m#-ﬂ 1 1 sin® 8 +cos’d =1 I_lh[ﬂ-!-!ﬂ'n'j-:ﬁlﬂ
s ) out .
—_— tan* 0+ 1 =sec? @ cos(f +2mn) = cosd
T 1 cotio 41 = el ban(8 + ) = tan 8
t=n
§ T R i T e T a ﬂﬁf{ﬂ+1ﬂﬂ} ‘_—mﬂ
EVEN/ODD IDENTITIES ~ DOUBLEANGLE IDENTITIES ~ HALFANGLE IDENTITIES |
sn(—8) = —sn@ sin(28) = 2¢inf cos6 { a.] Jm sec(@ + 2mn) = sec8
Sl = | Sk —
cos(~8) = cosd cos(28) = cos? B —sin® 4 . R cotld +an) = cotd
cs(~8) = —c3cd =1—2sin* § of = b¥ #¢% ~ 2bcensi

sec(=6) = sech b = af +¢7 - Jacces

“col(<8) = —cotd c*=a*+¥ —2aboosy

| PRODUCT TO SUM IDENTITIES ~ SUMTOPRODUCT | LAWOFSINES
| sing _sing sy
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ﬂn'nlh.ﬂ=-2-[nu{u-ﬂ]-tm{u+ml ﬁn¢+ﬁn,ﬂ'-2ﬂu

cos reos f = %Imtu'-ﬂ} + costar + )] A= sn = EM{E-;-E}siu(E-E:E} LAWOFTANGENTS

. a=—b un%tc -8
sinorcos § =-%[ﬂnia'+.ﬂl+ﬁ=-ﬁll roso +cos f = 2eos ﬁ—ﬁ}w*{ﬂ% a+b unh—l{u-l—ﬂ']l

corsing = 5 fsinle + §) — sinfx — )] cosw —cos = ~2sin (52 sin (S5 b-c m[%w-ﬂ

b e e

ﬂn[aj:.ﬁ:i =ﬁnam=ﬂ£m¢d&ﬂ
cos{oet §) =cosacos S ¥ sinarzin B

tan o + tan 8 - COFUNCTION IDENTITI
tan(a & 2 1+ tanatanf ﬂn{——ﬂ}nmﬂ

mf‘f'ﬁ’l'“ﬂ
un{gma‘}t_m_tﬂ
cos (3 —0) = stud
sec(5—8) = esc®

cot (5~ 6) = tane




ANGLES

N L

right angle: 90° obtuse angle: acute angle:
between 90° less than 90°
and 180°

reflex angle: adjacent angles opposite angles
between 180°
and 360°

alternate angles corresponding angles




Important Algebraic Formulas
(a+ b)* = a*+ b* + 2ab
(a— b)* = a*+ b* — 2ab
a*—b*=(a+ b)(a—Db)
a*+ b*= (a+b)*—2ab or a*+b*= (a—b)*+2ab
a’+ b3 = (a+ b)(@*—ab+b*) = (a+b)*— 3ab(a+b)
a’—b?= (a— b)(@* + ab+b*) = (a—b)*> + 3ab(a—b)
2(a®*+ b*) = (a+ b)*>+ (a—b)>
(a+b)*—(a—b)*=4ab
a*+ b*= (a+ b)(a— b)[(a+ b)*— 2ab]
(a—b)*= (a+b)*—4ab
(a+ b)*= (a—b)*+4ab
at+ b* = [(a+ b)? — 2ab)? — 2(ab)?
(a+b+c¢) = a*+b*+ ¢c* + 2ab + 2bc + 2ca
(a+b—c) = a*+b*+ c* + 2ab— 2bc— 2ca
(a—b—c)*= a*+b*+ ¢* — 2ab + 2bc— 2ca
a’+b3® +c®— 3abe=(a+ b+c)(@*+b* +c*—ab—bec— ca)
a+ a*b*+b* = (a* + ab+ b*)(a* —ab+ b*

al+a*+1=(a*+a+1)(a*—a+1)
ifa+b+c=0then a®+b*+c* = 3abc
a®—b® = (a*+ b)) (a*+b*)(a+b)(a— b)



Powers and Square Roots To Memorizel!!l

12 -1 =1 J1=1

2 =4 =8 Ja-2

$=9 3 =27 V9 =3

#-16 # - 64 V16 - 4
52 = 25 5° =125 J25 =5
62 = 36 6° =216 J36 =6
72 = 49 1 =1 V49 =7
8 = 64 24 =16 V64 = 8
9? — 81 3¢ — 81 81 -9
107 = 100 4* = 256 J100 =10
112 = 121 54 - 625 J121 =11
122 =144 1® =1 J144 = 12
132 =169 2 - 32 V169 =13
142 — 196 3° — 243 J196 - 14
152 — 225 4° —1024 J225 -15
167 = 256 16 J256 = 16
177 = 289 2 — 64 J289 =17
18° =324 3¢ =729 324 — 18
19? = 361 =4 361 =19




Unit Circle

Degree | cos sin tan sec €5C col
p* 1 D 0 1 undefined | undalinad
Vi - Vi3 23
o 3 3 = | = 5 Vi
450 % % 1 Vi V2 1
1 V3 23 V3
e 2 T V3 . % | %
ap- D 1 undefined | undalined 1 i}
120° - va /3 2 2V3 V3
2 2 _.'I 3
3 | V2 | V2 1 Vi | 8 -1
i | 2
150° V3 1 R 2 P
2 2 3 i | ﬁ
180° =1 (1] 0 =1 undeafined | undelined
el _i.rj _,l ﬂ _E‘E .
@ 2 2 3 i | ﬁ
2250 ..*;? _,'-;3 1 o 1
" T Wi | 3
240° A _va 2 2 V3
2 2 Vi 3 3
270° 0 -1 |undefined undefined| -1 0
1 Vi E 3 v3
ad g | =% | = w | F
315° "Tﬁ -g 1 V3 -2 =1
Vi _l Vi 23 v
cail B A ) a
360° 1 0 (1] 1 undafined  undefined
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Pythagorean Theoram &'+ b' = ¢

Aws caV2s Puds

HEXAGON

As0ur Pete

A=2ah+ 200+ 2ba V=bah

TRIANGULAR PRISM

Asbas2hoshb V= Sban

~ GEOMETRIC FORMULAS 1.cc s v

SCALENE TRIANGLE EQUILATERAL TRIANGLE CIRCLE

Ani-hh Peasbec A.:"'En* h-“%- P=3a A= Peinr

TRAREZOID PARALLELOGRAM

Amab P=ln+Zh Aubh P=la+dh

PENTAGON CUBE 'SPHERE

A -i'.l:t"' Vu i#ﬂ'

AwArs 4T Ve daen A=2nr s+ 2Rh  Vefrh Aw Tafb & ) + [0 + 1)
PENTAGONAL PRISM SOUARE PYRAMID TETRAHEDRON

A=BbaBbh V= g-rhﬁ




SQUARE

 RECTANGLE

P =4

A =52

TRIANGLE
P=a+b+c

1
A =E.hh h

PYTHAGOREAN THEOREM

b

' TRAPEZOID

P=ag+b+c+d il

a+b
d
2

RECTANGULAR BOX
A =2ab+ 2ac+ 2bc

CUBE

- CYLINDER

A= g7
V=13

| CIRCLE

P=2a+2b L P =2nr
A=ab A=nrt
b

PARALLELOGRAM CIRCULAR SECTOR

P=2a+2b ——
A =hh a lﬂﬂﬂ
h - 3 W [
A= 360° Lz
II'-.-
h

CIRCULAR RING
A=mn(R:—r?)

V=abc C

A=2arlr +h)
hl FRUSTUM OF A CONE
V= %r:.h[r: +rR + R




TRANSITION TO ALGEBRA FORMULA CHART

Distance formula Percent proportion
d=rt B _%
of 100
Simple Interest formula Percent of Change
[ = prt difference L %
original 100
Distance between to ordered Midpoint
pairs [x,+xl y1+y,J
d=y(x-2)' +(3-3) 2: - 2
Pythagorean Theorem Slope of a line
¢’ =a*+b’ e SR
X2 — %
Slope-Intercept Form Perimeter of Square
y=mx + b P — 43
Perimeter of Rectangle Volume of Rectangular Prism
P=2]4+2w V =Ilwh
Volume of Cube Area of Square
V=s5 A=s
Area of Rectangle Area of Triangle
A=Dbh Y ﬁ
2
Area of Circle Area of Trapezoid
A=nr’ A=2h(h +b)
Circumference of Circle

C=xd




IRREGULAR PLURALS o
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Name Figure Perimeter Area
Rectangle b 2(a+b) ab
a4
a
Square a a 4a 52
a
. a c 1= 1 bxh
Triangle atb+c=2s 2
b 2 = sls= als- bis- ¢
- 1
Right triangle n b+h+d  bh
b
1. 5 ah
Equilateral a a 33
triangle
Isosceles right a| Nd 1
triangle B A+ i
a
a
Parallelogram 2(a+b h
a
a
Rhombus a ’€ a 4a % d.d,
a
b
- Sum of its 1
Trapezium / ‘h ||| foi e 5 h{a+b)
a
Circle . 2mr -
Semicircle m ar+ 2r % e
TR
Ring (shaded e z (R? — 12)
region)
S ; |+ 2r
EE?::; g a where 013607 % nr?
| = (0/360)
x 2nr




Signs and symbols you need to know

(.) period, decimal point

(:) semicolon

( :) colon

(1) exclamation mark / exclamation point
( 7 ) question mark

) apostrophe, prime

) quotation mark

() ) parenthesis

[1) square bracket / bracket

{} ) brace

< ) less-than sign

> ) greater-than sign

$ ) dollar sign

[/ ) slash

) percent

dash / hyphen

) number sign _ 4 —
) ampersand I 11 11 " 5-'.',;,.__,
) at sign -
) asterisk

) underscore

) comma
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Square
 LH
22=4

I =10
=16
5% =25
6%= 16
7w 49
e
W= H)
107 = 100
11 =121
122 = 144
13 = 169
14 = 196
152 =325

‘Square oot
Wi=1
iﬁ:z
Wi =3
ii".'!_fnit
éﬁf:ﬁ
V6 = 6
=
NE =g
ii'ﬁnﬂ'
i Tt = 10
Wizl =11
Vid =12
169 w13
!u’iﬁ=u
%Jﬁ=l'&

Squarne

167 = 256
177 = 289
16% = 324
19 = 361
20° = 400
21% =441
LR 1
23% = 529
24% =576
258 = 525
26° = 876
272 =729
28%'= T4
29% = g4l
3% = 900

Square and Square Root Table
| Square Root

Vi56 = 16
VI = 17
ViZd = 18
V361 = 19
V300 = 20
il =21
VASS =22
¥829 =23
VETE =

V625 =25
Viik = 26
Vi =127
V784 =28
Vi =29

/300 = 30



